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A composition skin tension bed

(DPerpendicular weighting(Gravity)
@ ®BPerpendicular weighting(Gravity)

+Power from the side (Influence of

friction) +Tensile influence of composition

skin

There is not friction

A composition skin tension bed + A fur

@ ®BPerpendicular weighting(Gravity)
+Power from the side (Influence of
friction) There is hardly it
(DPerpendicular weighting(Gravity) +Tensile
influence of a fur
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A composition skin tension bed + A fur
+ A sheet(It is an enough wrinkle)

looked from
the side

D@ ®BPerpendicular weighting(Gravity)

+Power from the side (Influence of friction)

|<— 2006 —>|

A sheet

A composition skin
tension bed



